
 

gf;fk; 1 

 

 
kpUjq;fk; 
juk;: 5 

 
mwpKiwj;Nju;T      120 epkplq;fs; 

 
 
 

VjhtJ Ie;J tpdhf;fSf;F tpil jUf. (5x20 = 100 Gs;spfs;) 
 

 
1. 7 jhsq;fspypUe;J 175 jhsq;fs; vt;thW cUthfpd vd;gij 

ml;ltid tiue;J tpsf;Ff. 
 
 

2. jPu;khdk; vd;why; vd;d? mjid tpsf;Ff. 
 
 

3. Mjp jhsj;jpw;fhd gQ;r [hj; jjpq;fpznjhk; tupfis vOJf. 
 

 

4. kpUjq;fj;jpd; glj;jpid tiue;J mtw;wpd; ghfq;fisf; Fwpg;gpl;L> 
mtw;iw tpsf;Ff. 
 
 

5. Mtu;j;jdk;> ml;ruk;> khj;jpiu vd;gtw;iw tpsf;Ff. 
 

 
6. jhafj;jpy; msntl;b jtpy; Nkij jl;rzh%u;j;jp mtu;fspd; 

tho;f;if tuyhw;iwAk; mtu; ,f;fiyf;F Mw;wpa gq;fspg;igAk; 
gw;wp vOJf. 
 


